Notes Answers


Chapter 11 Information for Planning and Control
Answer 1

(a)(i)

Production budget in units

	
	Q1
	Q2
	Q3
	Q4
	Total

	Required by sales
	2,250
	2,050
	1,650
	2,050
	8,000

	Plus required closing inventory
	615
	495
	615
	375
	375

	Less: Opening inventory
	(675)
	(615)
	(495)
	(615)
	(675)

	Production budget
	2,190
	1,930
	1,770
	1,810
	7,700


(a)(ii)

Raw materials purchase budget

	
	Q1
	Q2
	Q3
	Q4
	Total

	Required by production
	6,570
	5,790
	5,310
	5,430
	23,100

	Plus required closing inventory
	2,605.5
	2,389.5
	2,443.5
	2,011.5
	2,011.5

	Less: Opening inventory
	(2,956.5)
	(2,605.5)
	(2,389.5)
	(2,443.5)
	(2,956.5)

	Purchase budget
	6,219
	5,574
	5,364
	4,998
	22,155

	
	
	
	
	
	

	Value
	$43,533
	$39,018
	$37,548
	$34,986
	$155,085


(b)

If material A is in short supply the company will need to obtain an alternative source of supply or find a substitute material. If they are unable to do this they will need to use limiting factor analysis to determine the optimum output level. In this situation sales will not be the limiting factor and the production budget will become the key budget factor in the budget preparation process.

(c)

It is assumed that the flexible budget statement does not require the inclusion of direct materials. The statement is as follows:

Operating statement

	
	Fixed budget
	Flexed budget
	Actual
	Flexible budget variance

	Activity
	7,700
	7,250
	7,250
	

	
	$
	$
	$
	$

	Overhead
	
	
	
	

	Variable
	168,000
	158,182
	185,000
	26,818 (A)

	Fixed
	112,000
	112,000
	105,000
	7,000 (F)

	Labour
	
	
	
	

	Skilled
	462,000
	435,000
	568,750
	133,750 (A)

	Semi-skilled
	415,800
	391,500
	332,400
	59,100 (F)

	
	1,157,800
	1,096,682
	1,191,150
	94,468 (A)


(d)

· Traditional incremental budgeting uses the previous year’s budget or actual results and adjusts for anticipated changes in the budget period. Thus past inefficiencies are incorporated in the budget.

· In contrast, ZBB starts from base zero and requires each cost element to be specifically justified as if the budgeted activities were being undertaken for the first time.

(e)

Rolling budgets are particularly useful when it is difficult to forecast future costs/activities accurately. Given that the company is experiencing an increase in competition and a shortage of raw materials it may need to react speedily to these factors in terms of competitive responses and sourcing alternative supplies. In these circumstances rolling budgets may be preferable.

Answer 2

(a)(i)

SIMPLY SOUP Limited
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(a)(ii)
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(b)
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Answer 3

(a)

The performance of the production director could be looked at considering each decision in turn.

The new wood supplier: The wood was certainly cheaper than the standard saving $5,100 on the standard the concern though might be poor quality. The usage variance shows that the waste levels of wood are worse than standard. It is possible that the lower grade labour could have contributed to the waste level but since both decisions rest with the same person the performance consequences are the same. The overall effect of this is an adverse variance of $2,400, so taking the two variances together it looks like a poor decision. As the new labour is trained it could be that the wood usage improves and so we will have to wait to be sure.

The impact that the new wood might have had on sales cannot be ignored. No one department within a business can be viewed in isolation to another. Sales are down and returns are up. This could easily be due to poor quality wood inputs. If SW operates at the high quality end of the market then sourcing cheaper wood is risky if the quality reduces as a result.

The lower grade of labour used: SW uses traditional manual techniques and this would normally require skilled labour. The labour was certainly paid less, saving the company $43,600 in wages. However, with adverse efficiency and idle time of a total of $54,200 they actually cost the business money overall in the first month. The efficiency variance tells us that it took longer to produce the bats than expected. The new labour was being trained in April 2010 and so it is possible that the situation will improve next month. The learning curve principle would probably apply here and so we could expect the average time per bat to be less in May 2010 than it was in April 2010.

(b)

Variance for May 2010:

Material price variance ($196,000/40,000 – 5) x 40,000 = $4,000 Fav

Material usage variance (40,000 – (19,200 x 2)) x $5/kg = $8,000 Adv

Labour rate variance ($694,000/62,000 – 12) x 62,000 = 50,000 Fav

Labour efficiency variance (61,500 – 57,600) x 12 = 46,800 Adv

Labour idle time variance 500 x 12 = 6,000 Adv

Sales price variance (68 – 65) x 18,000 = 54,000 Adv

Sales volume contribution variance (18,000 – 19,000) x 22 = 22,000 Adv

Answer 4
(a)

The total variances are as follows:

Total price variance = ($5.25 – $4) × 3,500kg = $4,375 Adverse

Total usage variance = (3,500 – 4,000) × 4 = $2,000 Favourable

This makes a total of $2,375 Adverse
(b)

The planning variances are calculated by comparing the original budget and the revised standards after adjustment for factors outside the control of the organisation.

On this basis the revised standards would be a price of $4·80 per kg with revised usage at 42g per card.

Planning price variance = ($4·80 – $4) × 4,200 = $3,360 Adverse

Planning Usage variance = (4,200 – 4,000) × $4 = $800 Adverse

The total planning error (variance) is $4,160 Adverse

The operational variances compare the actual spend with the revised budget figures.

Operational price variance = ($5·25 – $4·80) × 3,500kg = $1,575 Adverse

Operational usage variance = (3,500 – 4,200) × $4·80 = $3,360 Favourable

The total operational variance is $1,785 Favourable
(c)

The production manager is subject to external pressures which appear beyond his control. The size of the security card has to fit the reader of that card and if the industry specification changes there is nothing that he can do about that. This is, then, a ‘planning’ error and should not form part of any assessment of his performance.
Equally if world-wide oil prices increase (and hence plastic prices) then the production manager cannot control that. This would be allocated as a planning error and ignored in an assessment of his performance.
The performance of the production manager should be based on the operational variances (and any relevant qualitative factors). The decision to use a new supplier ‘cost’ an extra $1,575 in price terms. On the face of it this is, at least potentially, a poor performance. However, the manager seems to have agreed to the higher price on the promise of better quality and reliability. If this promise was delivered then this could be seen as a good decision (and performance). The savings in waste (partly represented by the usage variance) amount to $3,360 favourable. This would seem to suggest better quality. The fact that the production level jumped from 60,000 to 100,000 also suggests that suppliers’ reliability was good (in that they were able to deliver so much). The net variance position is relevant at a saving of $1,785.
It is also possible that such a large increase in volume of sales and production should have yielded a volume based discount from suppliers. This should also be reflected in any performance assessment in that if this has not been secured it could be seen as a poor performance.
This is backed up by the lack of obvious quality problems since we are told that 100,000 cards were produced and sold in the period, a huge increase on budget. The ability of a production manager to react and be flexible can often form a part of a performance assessment.
In conclusion the manager could be said to have performed well.
Answer 5
(a)

Overhead costs for the 2010 budget:

Property cost = $120,000 x 1·05 = $126,000

Central wages = ($150,000 x 1·03) + $12,000 = $166,500

Stationery = $25,000 x 0·6 = $15,000
(b)

The road repair budget will be based on 2,200 metres of road repairs; it is common to include a contingency in case roads unexpectedly need repair (see part (c)).
The weather conditions could add an extra cost to the budget if poor or bad conditions exist. The adjustment needed is based on an expected value calculation:
(0·7 x 0%) + (0·1 x 10%) + (0·2 x 25%) = 6%

Hence the budget (after allowing for a 5% inflation adjustment) will be:

2,200 x $15,000 x 1·06 x 1·05 = $36,729,000

This could be shown as:

(2,200 x 15,000 x 1·0 x 0·7) + (2,200 x 15,000 x 1·1 x 0·1) + (2,200 x 15,000 x 1·25 x 0·2) = $34,980,000

The $34,980,000 could then be adjusted for inflation at 5% to give $36,729,000 as above.
(c)

An expected value calculation used in budgeting has the following problems associated with it:

· It is often difficult to estimate the probabilities associated with different (in this case) weather conditions. The weather in one year may not reflect the weather in the following year leading to wildly inaccurate estimates and hence budgeting errors.

· It is difficult to estimate the precise monetary value attaching to each of the outcomes. ‘Bad’ weather can presumably take many forms (extreme cold, heat or water); the effect of each of these could be difficult to assess. Whilst using expected values it is common to group the events together and have one probability estimate. This may prove inadequate or inaccurate.

· The expected value that is calculated might not reflect the true cost leading to over or under spends on budget.

· The managers will have an easy fallback position should the budgets turn out to be incorrect. It would probably be accepted that the weather (and hence the probability of it) is outside their control and over spends could not then be blamed on them.
A contingency is often added to a budget in the event that there is uncertainty on the likely spend. In this case there would be much uncertainty over the level and indeed type of road repairs required. Roads could be damaged by weather conditions (extreme cold or heat) or unexpected land movements (earthquakes). Public safety could be at risk meaning that a repair is essential. This could result in a higher spend.
Equally the type of repair needed would vary and be unpredictable. Small holes might be simply filled in but larger holes or cracks might involve repairs to the foundations of the road. The costs could differ considerably between the different types of repairs.
(d)

Zero based budgeting involves three main steps:

· Define decision packages. These are detailed descriptions of the activities to be carried out. There will be some standardisation within the data to allow comparison with other activities (costs, time taken and so on). A cost-benefit analysis is often carried out at this stage to ensure the most cost effective and beneficial approach to the activity is taken.

· Evaluation and ranking of activities. Each activity is assessed; those that are perhaps part of a legal obligation become ‘must do’ activities; others may be viewed as discretionary. The LGO will have to decide which of the activities offer the greatest value for money (VFM) or the greatest benefit for the lowest cost.

· Allocation of resource. The budget will then be created for the accepted activities.
Answer 6
Incremental budgeting is a process whereby this year’s budget is set by reference to last year’s actual results after an adjustment for inflation and other incremental factors. It is commonly used because:
· It is quick to do and a relatively simple process.

· The information is readily available, so very limited quantitative analysis is needed.

· It is appropriate in some circumstances. For example, in a stable business, the amount of stationery spent in one year is unlikely to be significantly different in the next year, so taking the actual spend in year one and adding a little for inflation should be a reasonable target for the spend in the next year.
There are problems involved with incremental budgeting:

· It builds on wasteful spending. If the actual figures for this year include overspends caused by some form of error then the budget for the next year would potentially include this overspend again.

· It encourages organisations to spend up to the maximum allowed in the knowledge that if they don’t do this then they will not have as much to spend in the following year’s budget.

· Assessing the amount of the increment can be difficult.

· It is not appropriate in a rapidly changing business.

· Can ignore the true (activity based) drivers of a cost leading to poor budgeting.
Answer 7
Advantages of an incremental budgeting approach:

· Local government organisations are often complex and incremental budgeting will be seen as a simple approach to a budget that will take little effort.

· Budget processes can be long ones, however incremental approaches do tend to be quicker than most. Complex local government organisations can suffer from very long budget processes and incremental budgeting can alleviate this a little.
Disadvantages of incremental budgeting:

· Public bodies, such as local governments, will be encouraged to use up all of this year’s budget in order to ensure that next year’s budget will be as high as possible to give themselves the flexibility they need to do whatever is needed. The public services required can be unpredictable and so local government organisations prefer to be able to be flexible.

· Overspends made in this year will be budgeted for again next year, this is hardly giving taxpayers value for money.
Answer 8
(a)(i)

Sales price variance and sales volume variance

Sales price variance = (actual price – standard price) x actual volume
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Sales volume contribution variance = (actual sales volume – budgeted sales volume) x standard margin
[image: image7.emf]
(a)(ii)

Material price planning and purchasing operational variances

Material planning variance = (original target price – general market price at time of purchase) x quantity purchased

($60 – $85) x 1,400 = $35,000 A.

Material price operational variance = (general market price at time of purchase – actual price paid) x quantity purchased.

($85 – $80) x 1,400 = $7,000 F.
(a)(iii)

Labour rate and labour efficiency variances

Labour rate variance = (standard labour rate per hour – actual labour rate per hour) x actual hours worked.

Actual hours worked by temporary workers:

Total hours needed if staff were fully efficient = (750 x 2) + (650 x 1·5) = 2,475.

Permanent staff provide 2,200 hours therefore excess = 2,475 – 2,200 = 275.

However, temporary workers take twice as long, therefore hours worked = 275 x 2 = 550

Labour rate variance relates solely to temporary workers, therefore ignore permanent staff in the calculation.

Labour rate variance = ($14 – $18) x 550 = $2,200 A.

Labour efficiency variance = (standard labour hours for actual production – actual labour hours worked) x standard rate.

(275 – 550) x $14 = $3,850 A.
(b)

Explanation of planning and operational variances

Before the material price planning and operational variances were calculated, the only information available as regards material purchasing was that there was an adverse material price variance of $28,000. The purchasing department will be assessed on the basis of this variance, yet, on its own, it is not a reliable indicator of the purchasing department’s efficiency. The reason it is not a reliable indicator is because market conditions can change, leading to an increase in price, and this change in market conditions is not within the control of the purchasing department.
By analysing the materials price variance further and breaking it down into its two components – planning and operational – the variance actually becomes a more useful assessment tool. The planning variance represents the uncontrollable element and the operational variance represents the controllable element.
The planning variance is a really useful for providing feedback on just how skilled management are in estimating future prices. This can be very easy in some businesses and very difficult in others.
The operational variance is more meaningful in that it measures the purchasing department’s efficiency given the market conditions that prevailed at the time. It therefore ignores factors that the purchasing department cannot control, which in turn, stops staff from becoming demotivated.
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